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Section A (52 marks)

Answer all the questions in this section.

1 Lee records the number of texts he receives each week for 30 weeks.
The stem-and-leaf diagram shows his results.

2 v
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Key 2 | 7 means 27
Find

(a) the number of weeks in which Lee receives fewer than 45 texts,

Answer % [1]

(b) the median.

AN S O e et sanenssr e 1]

2 The sizes of the three angles in a triangle are in the ratio 7 : 3 : 2.

Find the three angles of the triangle.
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3 (a) Calculate

() N00003689+0.004529, = 0. 1494 2SEST 5
Answer .......... 0,/%0/;%) [1]

¥ 5.63°
@) g = 0:00315062

Answer .......75. N L a4 ¢ a eV e e bl 424594

(b) The populations of the four main islands in Japan are shown below.

Island Population (millions)
Honshu 104.0
Hokkaido 5.348
Kyushu 12.97
~ Shikoku 3.797

Calculate the total population of the four islands.
Give your answer in standard form.

total - log. 0+S- 344 + 293 + 3 F9¢
= ’lé”S b ont= {,éé//S)()() €4nswer ............................................. (2]

-

4 (a) Simplify 5(x—1)—2(x+2).

g,)(—S'Z?('Lf = 37("

\ —o

AW e e e (2]

(b) (i) Solve the inequality 5m < 21.

Son@ 21
G
V4

Answer ha < é/’f [1]

-------------------------------------------

(ii) Write down the largest integer value for m.
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Answer m = ........... 4— ...................... 1]
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Written as the product of its prime factors, 2520 =2°x3?x5x7.

(a) Write 2160 as the product of its prime factors.

yRERR Yo {
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(b) Gi\'l{ng each answer as the product of its prime factors,

(i) find the highest common factor (HCF) of 2160 and 2520,
7520 = @(@x @/r 1
3
o G 255 e S
> o 5
RIS x5x | 2;{)72),5
TR et B e o P AR e L et [1]

(ii) find the smallest positive integer value of a such that 2520a is a perfect cube.

25204 = 2" xS x Sxhxa
(o3 20:59) (214759
A - ;XSZK%Z;

ANSWer L a = s e o L [1]
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In quadrilateral ABCD, 4B is parallel to DC.

(a) What is the mathematical name of quadrilateral ABCD?

Answer ....... WI’GP{Z'!MM ............. [1]

(b) Given that triangle 4OB is similar to triangle COD, identify all the pairs of angles in triangle AOB and
triangle COD that are equal.

Answer

oK B L#BEOCD
YORA: ¥ opC
X AoB: & Cop- 2]

(¢) AO=42cm,BO=2.8cmand CO="72cm.

(i) Calculate the length of DO. o new zz ; W2
. e ol T
Xold 3% 2
B 2.8 S Do = prl{ —‘—Af&é
B \
A < Znswer 4'8 .................. cm [2]

(i) Find the scale factor for the reduction of triangle COD to triangle 4OB.

Goin 02 &
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§ é (a) Calculate
o T (i) BN,
= . BiPT el (R
o ol = et il
L BN 0R
g g BN =1 506381 Answer BN= .. S54 .......... m [3]
é : (i) NC. : S'Siw{s 1)
o | R I
§ g “Yan 63 Ni
2 8 NSl
fau (3"

|z : 2-;L£aﬂ(;”Aiswer NC=.. 2 3‘f ........... m (3]
g g (b) Calculate the area of triangle ABC.
g E BC - 55389+ 2.3y38
élg = 180 1F

g
38 aea- 3 X 18023 % 46

= [&]30

g § 8. ,2:,( o5f) Answer /g.(cmz 2]
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This table of values is for y = x* —5x+2.

X =3 =% = 0 ] 2 3
y p 4 6 2 = q 14
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(a) Calculate the value of p and the value of g.

—10 !
ANSWer P = ..o,

0 \2
= ccieininnineniiisnnsssseereeisines (2] g
2 2
(b) Draw the graph of y=x*—-5x+2 for -3 <x<3. E g
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(¢) Use your graph to find the largest value of x wheny = 2.5 .

Answer x = ....% v IR, [1]

(d) By drawing a tangent, estimate the gradient of the graph of y = x’=5x+2 whenx=05.

(o Jfemgralits ( =02 >)

gei=¢
@@d%ﬁ e
B ~ .35

ANSWer Bmuiin At IMBIRIR  ivenveriies [2]

9

i _qgs{/ [;Jﬁ)

(a) Factorise completely 4x2y—6.\')f'3.

Qxi)(Zl'Eji)//

(b) Rearrange this equation to make b the subject.

b+2

4p-3=22

al4y-3) = bi2
L"p‘b"'?a = b'fl

Lob-b = 1)
b(4a-1) = satd
fatd
Ly
Qa’l,¢
| Bat)
Answer ... BN . o (3]
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(a) Calculate the total number of tourists from China and Australia who visited Singapore in 2018.

Write your answer to the nearest million.

2106000 + (044000 = 230000

3000 000 (1]

- 3 W,‘/),'om ANSWER, < isiis i ilitiamiin it rsti A,

(b) Calculate the total amount spent by tourists from China in 2018 to the nearest million.

(c)

(d)

Mop X MO.(A fouw'sts 1\
05 2106000 = 2533@3 000D
= 2538 wmillien
2558 waillion

ANSWer S i iz R isrteninisesseiecasibeesos 2]

Based on the 2018 data, a tourist from Australia is expected to spend $979 in total during their stay.
How much would a tourist from Australia spend per day during their stay?

A 49319 Celp)
R0 sl b

ANSWer 8 . e s T s s e s [1]

A café focuses its marketing on tourists from one country only, either China or Australia.

The café decides which-country to focus on by calculating the average amount spent per tourist during
their stay on(food and beverages.

Based on the 2017 data, a tourist from China spent more on food and beverages than a tourist from
Australia. The café therefore focused its marketing on tourists from China.

Based on the 2018 data, should the café continue to focus its marketing on Chinese tourists? Show
working to support your answer. (et

Answer I 20(4 ( DIWI‘:{{ Pw/\ ‘;OHV'E} :i/ZOS- g

‘&ual qul  hevarafe Cpevoliy = 1205 X Tog
Ceaee) S GG 0,
ln 20(¥, awrsqe pov Kb DDA o hian$id 19,

EY
food awd Wb Speulny = 179 % 7o

Svu e averrie fualian E?MS more | thoy Chould

| 2

WSS %cm o 115 mavkehWs on Clhalesc lowwitts.
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Section B (8 marks)

Answer one question from this section. Each question carries 8 marks.

11  Farmer A has 120 cows.
He records each cow’s milk production, L litres, for one week.
The results are shown in the table.

DO NOT WRITE IN THIS MARGIN
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&'Tg"m':)(’fm"k 150 <L<160 | 160<L<170 | 170 <L <180 | 180 <L <190 | 190 < L <200 1
Frf!ﬁfﬁifyf)m = 32 43 24 9 :
53 59 D B3 (1.5
(a) (i) Calculate an estimate of the mean and standard deviation of the amount of milk produced by each

Cow,
r/l/om (ol CU /"(-0', )

7 o sy
= 34k (M)
LR [ 24
= fol?/} (;ff) Answer Mean /7/[* litres
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....................................

Standard deviation [O'? litres [3]
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(i) Farmer B also records the milk production of each of his cows in the same week.
The mean production for each of farmer B’s cows is 179 litres and the standard deviation is

9.2 litres. T3
z
Which farmer, A or B, has cows with more consistent milk production? ;
i B
Give a reason for your answer. VS x : ;
Answer |

nE

Fapwar B, herac Hha studerd desichion 11 lover
ton o stasdonl dtaahon A Farme™ AlC wug.
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¥

R
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2le (b) Two of Farmer A’s cows are chosen at random.
21z Calculate the probability tha
% § (i) both COWPS hadai:o:iu tt 32_11 ore than 180 litres in the week, )
1k fon - R 'fﬁfu” s
1 / 1% ﬁ‘%\ Loy IR i fﬁf/
i 1 % Ll
576
218 P R N A el 2]
g‘é (if) at least one of the o vs had a production of more tha ?OlgEOIitrcsinthew_gzlz.}_
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A ship sails 185km on a bearing of 040° from 4 to B. §; 8
It then sails 232 km on a bearing of 125° from B to C. |
(a) Show that angle ABC = 95°, ‘
Answer /go- VO: /(fo (/&'/ 4{) g:g
0w 2
4_/‘1@(: géo_/ﬁﬂ}— )'Zg (&fﬂt ﬂf‘}) Eé
% : bown |
= 95 (sho) G g
(b) Calculate the distance AC. 2 8
A(li /8)‘TL2521_,2(,@S}/?_}?,) 50595 |
z
v 30, 1189 :
A 455 1
(= 3090800 §_
= 309 bl i) 2
v
Answer AC = ..... 3 07 .............. km [3] s
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§ é (¢) Calculate the bearing of 4 from .
% E Sm XA Ssm S
ik &5 ° gonop
-| thggc
z|z XJMB‘ = G /W X/Cff)
|- = $6.405Y
%% /20~/ZS':%SS°(M‘2¢)
I . beony A A fon C = 260" -5S - 26 4o0F ‘
| = 266.374 (e
Z - oy (1dp).
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